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PART-A

>N — D
This part shall contains 50 multiple choice/ Objective type questions, each
question carrying one mark. [50 x 1 =50]

33 Ny 50 W o)/ IWIFY Jow JFNva, LIRRORTTHE, F3cdeomd
TICED womd WOTTT, BROVTHIH.

1. Most major systems of gymnastics have had their origin in
(A) Greece (B) Japan
(C) Germany (D) Scandinavia
BIPATS BB BR0D wédﬂ@mfa DB, VPNY RO AT,
(@) Nex® (V) =TI

() HIDFJ (®) R, 0RFeN03®

2. Philosophy of Physical Education is said to be

(A) Elective (B) Eclectic
(C) Selective (D) Imperative
FZTITY TloB 33T, Leriom BeFoRNTI

() S0, B[P () ZTEOM
(d) ©sod= (®) 828%;;3&-‘

3. Man in motion is the focus of attention only in
(A) Kinesiology (B) Bio-mechanics
(C) Physical Education (D) Vigorous recreation
DX BOJ0NY FCOQFOAT NI =[IDF, QBT
(R) Bz zsemm:i () 2003Re-TAT
(R) Bz d8ee (B) DT DIV
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4. Inacquisition of motor skills, ‘trial and error’ is an important
(A) Philosophy (B) Principle
(C) Paradigm (D) Theory
Bome FPIONWRY, ‘TARR =B TR’ .00 TRNDTT
(®) 5%%?-4;) (R) =g

() =PTO (8) Eut:r%os

5. Inits nature, the human motion is
(A) Rotational (B) Angular
(C) Circumbulatory (D) Perambulatory
©TT BBRTTY, BPIBI BOTID
(R) BI3FT (Q) deesne

() ®,B2F0 (®) HBovownetsd

6. Inanatomical language, the heart muscle is called
(A) Pericardium
(B) Endocardium
(C) Myocardium
(D) Epithelium
@ONTwme HoRoPY, BTN FO,ENTI, LeRotd 3ToDRMT)TD
(2) VOTRFONRS®
() R0TBRTREONTT
(2) FDodweslsodo
(B) 225eDODO
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7

In hypoxia, too little oxygen reaches the
(A) lungs (B) braincells
(C) heart (D) tissues

BTRFIRTY ©ée TN TINWIT FLOTTTP
() ZRZREINSN (Q) DTYI ReRdReSNON
(r) BBODE, (8) wormosnen

What antagonist muscles do, when body movements are performed?

(A) Move fast (B) Relax

(C) Become flaccid (D) Get paralyzed

Bemm BoSodmen DOLRNIAT, A0 O F[RBEIT?

() SenmD, BEOIBT () QBRI

(R) RTOIPMOTTI (B) OTFTOINR 2SR

Incomplete fracture of a long bone is technically called

(A) Green stick

(B) Impacted fracture

(C) Oblique fracture

(D) Compression fracture

TP FOD RTOD wTerer BROSTY, T0gBIN DV FBCINZT?
(R) N AF

(D) TpoTT =[N3

(2) &303nT ®0d3

(B) RodeeBEs =003
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10.

11.

12.

Which of the following is responsible for stimulation of the heart to contract and
beat?

(A) Spinal Nod

(B) Vagus Nerve

(C) S.A. Node

(D) Medulla oblongata

TTOD ﬁo%aa&émeg,m B WS TBRTI JeBED B FINTPYNTY 03T
FOOLOWONT?

() BRFeIoD Seew
(R) Ien=z® I0

(R) OFF. Q. IR

(B) Doy wBReoro

Which of the following is qualitative measurement technique?

(A) Reactiontime (B) Flexibility
(C) Receptivity to training (D) Arousal
B INTPYNIY Moregs ©¥E BoZ, BIJYT?

(¥) BB3C IIOD () I3
(») 3ogesod N (B) D8eds

Which of the following term can be considered as good as ‘reliability’?

(A) Adoptability (B) Adaptability

(C) Repeatability (D) Applicability

38 FINT 03T VTV, ‘VIYFOBF IO T3, FOOITNTIOHOTD LONES LI O
(R) VIBBRABRNNT () BROOBRWNE

() TOJTIWBEAOD (B) ©JNRIT
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13. Concurrent validity measures the degree of relationship between two measures
(A) ofthe same nature
(B) ofdifferent kind
(C) taken approximately at the same time
(D) taken at different intervals of time
23FIT YONCTRTF IO ITE FRNY IWIT BOWOTT FEI[T, WLOIZHTD.
(®) ©T¢ REPBITN
(@) P, DeSRBBATYR
(d) womox wrde ATCNTY InRcHIeomen
(B) 0T FOIT BIODTY BrRcHBROTON

14. Tournament standings serve as standard for establishing
(A) Concurrent validity (B) Content validity
(C) Construct validity (D) Logical validity
TOTRIRPOD VRIINWD BRITOBNY :r%wﬁﬁ 2FFORFD
(Q) DTTIT WONCTDES (D) ARWOD WONCTHF S

() TiIoZE WOoNeTTF S (B) ToBeFT WONCTOTF S

15. An obstacle race is a good measure of
(A) Co-ordination (B) Speed of Movement
(C) Body strength (D) Extent flexibility
OBBEOD L83 WO YT BIVTTTNTRHT
(D) REZoD (2) BoIcH Jen
() Tema 3§ (B) DATHOD IIE
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16.

17.

18.

For boys, the height of the bench in Harvard step test is

(A) 15 inches
(C) 24 inches

DOBEINOMON VD TOwFETF O3 wéegodaegdm 23083 ebgd

(2) 15 Qowd
(%) 24 Q0w

The total number of test items in the Kraus Weber test is
(A) Five (B) Six
(C) Four (D) Three

TN WWT BOODY ATV 243 TOLTY DWODNY HO3,
(R) 2D (R) 8D
(R) =P, (B) R

The density of a body is calculated by

(B) 20 inches
(D) 30 inches

(D) 20 o
(8) 30 gowd

(A) Multiplying weight by volume (B) Subtracting weight from volume

(C) Dividing weight by volume

TeRT AOTITONT), W¥E SPWYT
(2) TOTPEROOT BRFBIY, MESAITYT
(R) TOTPLAOOT BRTIW, FOINHT
() TOVRPOOT BRIV, VLWATYT
(B) 3R8OOT TOWIEITI), QLITIRR)TR
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19. In principle and practice, all chest measurements should be taken at the
(A) begining of normal expiration (B) time of normal expiration
(C) end of forced expiration (D) end of normal expiration
Sr;s;u"c(j; W) TRBODY, HTOD BFIONT), SRDIRFLICTDNATZYW
() FOBRJTON YWATI), BRTTIVR STOFTY
(R) TPB[RIFRN YVATI, BRTFTRI FOTHFIY
(R) WOTOTRN YATR), BRTTOWNT BOZTBY
(B) mBRIION AT, BATHRE ©OZTY

20. Rationalisation theory of management unequivocally advocates
(A) ‘right person for the right job’ (B) division of authority
(C) division of responsibility - (D) freedom of thought and action
QR BBON 36?@%@*6 chr%osag; QTONN TN TETWORYTD
() ‘O3B FHRN FOIWT FOIE
() ©OTIT NP
() BPROAD AP

(®) 280BS 3B 00D WO,

21. What kind of body is All India Council of Sports?
(A) A voluntary organization (B) A elected body
(C) A statutory body (D) A nominated body
WD® 2T 3T @WOBPOIN (AICS) 03z dedodH xom;ojomd‘?
(@) BoDo BedZ ﬁo;ﬁ@ (2) BTN FOF,

(&) mﬁﬁwc{ﬂp m‘ozg’p (B) o= IBeFIIT 50:\);
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22. Laissez-faire administration, which is reverse of authoritarian administration literally

means

(A) free forall (B) do as you wish

(C) letalone (D) rule of law

AT OO ST/YT [ 30FINTD eﬂeﬁw—ajeof BT, ©¥ITZ: QWT O
() 28R ZeoITNTYTD (R) I, G003 TR
(R) e.2)OoNTN WY (8) méoda?f)o&oéo:baﬁdo@da

23. Which of the following theory presents the social aspect of learning?
(A) Trial and error (B) Observation
(C) Insight (D) Information processing
& FPNT CPD R;a‘%o:é@ 3980 TOBWBEF WOTB/W), TRZ BRI
(R) DI DI BOPZ, DR BRER (W) VVSREFI

(2) 2980083 (3) SPWE FoXT

24. The two major components of load are

(A) Specificity and volume (B) Intensity and volume
(C) Intensity and progression (D) Continuity and recovery
2000 AT TRV TUBNRLD

(R) IOFFB B, VOB (R) eI =B B[OBwee
(R) Se[B R IJNS (B) dTOSTE =) 23e203

25. The rate or speed at which physical activity is performed is known as
(A) Work load (B) Exercise volume
(C) Load stimulus (D) Intensity
né ©gme JenNoB IWRS Tlod 2ED|EIFODTY, Se7IOT 300300

(2) TODNF LT (R) méojamcs SOZT0ED
(2) 2003 TR (8) 8¢x3
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26. Frequency of stimulus in loading is also called
(A) Viscosity (B) Density
(C) Connectivity (D) Specificity
PO0TR), TOBWWON TERCTION BIBFTI, Soertodd FTO30TY

(R) ANE (R) moT3
(2) =momzE (8) E’D@)F%@”

27. The number of times a motor stimulus is given is generally called as
(A) Stimulus loading
(B) Programming of stimulus
(C) Frequency of stimulus
(D) Stimulus scheduling
BOTD 20 BOT TRRTT ABDRTT, FHITN LoD FEAINTT
() TpEreTIoD IedF
(D) TBReTI0D FONFFRT T3
(R) TpPreoIod sTSES
(B) BpidoemNod H[ewowmts

28. When a muscle is made to contract isometrically
(A) it puffs up (B) its length changes
(C) its length does not change (D) its size shortens
O3RN FR,0INVTI), VARERET BNTV0TT FONWBRRPATON
(D) BT WRERNIT (R) ©TT T, WBSMIT
(d) ©TT NFH WTSRMHROY (B) ©BT Mg sRSOIRMITT
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29.

30.

31

When an isotonic exercise is performed against resistance the load remains
(A) Constant (B) Variable
(C) Static (D) Oscillating

033007 0ARLEREIT 339,0TB/I, BTWRERARNTOD é)do% RIRTRN, &0
VPOINT)T

(R) @wBN () ©& TN
(&) f%dmﬁ () wREE Ton

Which of the following bio-motor abilities is generally considered most difficult
to improve?

(A) Flexibility (B) Stability
(C) Speed (D) Strength

8 FIPNT OI0R WS- REEDT° TR DI, YOI BRI TOTZEON
THWOW TWONIBLRTHZT?

(D) I3 () 303
() Jen (8) 2o

A piece of equipment used to measure units of work done by person is called
(A) Ammeter (B) Ergometer
(C) Galvanometer (D) Manometer

wéicﬁw [RRT 20T 6@?35534 DNRTI DPBEED NTAIREARR L0 ﬁe‘s’%
SOTFTEITR, &enomd ﬁdodwagﬁ

(R) AWT* Tge®m IPIT (R) deE eeIT’

() MROBRENCEIT (R) Reedpeanedt
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32.

33.

34.

33,

Name the test to determine the Cardio-Vascular efficiency

(A) Harvard test (B) Coopers test
(C) Margaria step test (D) Bench test
BEOD TTFRYE BFZ0DY, AFFORLD GOTOIRENTT T[OLFOD, el
(R) TRFTE Tocs (D) BRIJTT FToOCeE
o ~ V)
(2) HPEFeoodm® T WOCE (®) tdows WO

In 2 x 2 x 2 factorial design, the number of treatment groups will be

(A) 03 (B) 06
(C) 08 (D) 05
2 %2 %2 OBVIIFCOD DTVIBQ, WOeFAH™ MOOTDNE F0Z,080
(2) 03 () 06
(2) 08 () 05

The evaluation which is undertaken during the course of training is called

(A) Summative evaluation (B) Creative evaluation

(C) Formative evaluation (D) Normative evaluation
30z3e80 FIONTY FRANT SPOBWBIBZ, S0 FTENTT
() @TO3T BPOTPTI () ARTOTFDD BPOTRTI
(2) TWIE BIPOTPIZ (R) TFPeas IPODRTI

Assessments of flexibility is done with the help of

(A) Dynamometer (B) Tens Meter
(C) Goniometry (D) Cyber
IRNI0D [POBRTI BB UTOSRENTZ TS
() BBpeBpe oeeso’ () &I Dee3o®
(2) RReCIRE NeE3T° (®) Ao
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36.

37.

38.

Which of the following test is not a test for motor ability?

(A) Larsen test (B) Metheny-Johnson test
(C) Cozen’s test (D) JCR test

B8 FENT 008 TOLTOIN WOT? FFFIZY, 903NT TOeFoDY?
(®) ooRFa” TJoed (V) DFI-2I" TOed

(R) BReR’ ©Oeg (R) ®.2.80° Boed

Tests like SAT are used to measure

(A) Aptitude (B) Intelligence

(C) Achievement (D) Performance
SAT 303 BOIRIT, CIPPTI, WIOPD YVTO3RENFTT
(R) oimer%é’ (R) &n@@éi

(2) =TI (B) TODFTIE

Which of the following is a badminton skill test?

(A) French short service test

(B) Sherman untimed consecutive rally test

(C) Hammer ‘Mini-Match’

(D) Wisconsin wall test

8 FENTIPNYY CIPPYWD LRTWORT TJY), TOCE?
(R) Pow® JWE AFE Boeg

(V) IDFT VYT 1S3 0o, O TWoe

() TRIT WI-[

(B) MIAT W& Toeg
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39.

40.

41.

42.

M-5263 [14]

Which of the following is the best measure of variability?

(A) Range (B) Standard deviation
(C) Mean deviation (D) Correlation

33 FYNIYNTY CIPPYW VI TORSFACODBCD LEBRPED?
(R) Beesd (R) TIPed3 QBOI

() RTORD RVWOT (8) ADROWOT

The implications of experimental research is

(A) What was? (B) Whatis?
(C) What will be? (D) What are?
T3RENT BOZREFIOD BJOTOTNTY SPATYTD

(2) QTNB? (D) DI?
(%) DETHIE? () 32

Which of the following experimental designs involve Single group?

(A) Repeated measures design (B) Random group design
(C) Post test group design (D) Factorial design

3 FIPNT 3= TE3eeNE @méﬁmb DT rboa:ﬂﬁaﬁl au%ﬂﬁ.rao@da%d?
(R) DIBEFS BIZ0D DTVRA (2) TR0WRT MO DTF

(R) F[OeFY TOSTT MHOTR DIVA (B) ©TJBEACOD DT

Standard deviation represents

(A) Central tendency of the data (B) Correlation of the data
(C) Dispersion of the data (D) Probability

W08 WO TEAHROF)TO

() BILOTT eOT, WS (V) TTOIT ABFHOWOT
() T=203T TATED (B) Rorz=eond




43.

44.

45.

Value of which of the following cannot be determined graphically?

(A) Mode (B) Mean

(C) Median (D) Standard deviation

&3 FINTYNTY CIPPTO TIPOTD, Sead Tgod [NS00ZT ATFOIRHIOY?
(D) Bre® (R) XooRO

(B) *TF (B) ISP QWO

F-ratio is used to compare

(A) More than two standard deviations

(B) Less than two means

(C) More than two means

(D) More than one mean

DT ORTTBW), BRDE TPBEED YTOIRENTTYT
(P) 2TBEOZT TS TSI DWOFNTN

(V) 2TBEEOZ FRFOD FTOFOOWTRN

(R) 2TWOZ TS TTPROONTN

(B) 200808 BT ATHROOWWYN

Product moment coefficient of Correlation measures which particular type of
relationship between two variables?

(A) Linear (B) Curvilinear
(C) Parabolic (D) Circular

VO FIWONT ABAOCWORFT TOFVOTY O3D ADFF 0e80N HOWOTNY
SWIT AT BION WPNTH, VYE [RBWZH?

(2) Beddead (R) FRFADAICHT
(R) ROvLReIT (B) ®z2E0
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46. Ina cardiac cycle what is the ratio of ventricle systole and ventricle diastole?
(A) 0.1 sec./ 0.7 sec.
(B) 0.2 sec. /0.6 sec.
(C):-0:3sec. /1055 5ec.
(D) 0.4 sec./ 0.4 sec.
B,BONT IBRY DTTT AR’ 3T VIO BOIRPARLT’S YRS OT?
(®) 0.1 AFom/ 0.7 BB
(2) 0.2 Z%ow / 0.6 AFoW
(&) 0.3 ZFowd / 0.5 FFowd

(8) 0.4 Zdom / 0.4 Bdow

47. Trypsin helps in the digestion of
(A) Vitamins
(B) Fats
(C) Protein
(D) Carbohydrates
O3 23ee0F FONN & T° FTHOOD VREIT
(2) BeIINE
(V) '&raw%ﬁeé
(2) Beeeiesnd

(®) ﬁt&@f?%@ﬁﬁ@
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48.

49.

50.

Who considered Psychology as the “Science of activities for an individual in
relation to his environment™?

(A) Woodworth (B) William James
(C) Watson (D) Robert Singer

035 mmeam@;sm& &EROTD TOMEIATIT 2o) [IOD WDTLIINTL)
2,23QTINVIT B 3T, VOATF, FOWOHATOZ

(R) I () DOoHTT edeas
() P8’ (B8) ToweFs Aaonce

Cognitive process is concurred with
(A) Knowing experience

(B) Feeling experience

(C) Striving experience

(D) Thinking experience

ONT JFOH0OIN FoWOPRATDTT
(P) VVPIBI, SYTVERYLD

(V) HOTI0H LD

() TORSFE IS

(B) sB80eET0 9PR

Which of the following is responsible for maintaining order in human society?

(A) Sanctions (B) Beliefs

(C) Division of labour (D) Group opinion

BRTH FRIPBRRY FITNTW, TTREAYLD 88 FINTYNYY CIRJYTH T0TEmNT?
() JWFOPND (R) JoRINLD

() DIDOD AFES (B8) ™o WPTDOD
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PART-B
wen —

This part shall contains Five questions, each question carrying ten marks.
[5x10=50]

3 RN I TIJNERY, BRoDHLIT, I JJodo TY WOINTR cclelalestcla

(

1. How do you evolve research design for exploratory research? Breifly analyse.

2OZRFT0 BOBRCFIMN AR FOBRCTT QTOHBI, ert DBAZRRPWECD?
ﬁog@mﬁ DJeXA.

2. Write on primary and secondary data.

TRPWT D) Q30D TTYOJT 27} 2ITOWO.

3. Explain strength training methods with the advantages and disadvantages of
each.

38 BTe0D DTIBNYR, YRINY VRVER® DB, YTODBRONERODN VWO,

4. Walkers, Joggers, Swimmers and Cyclists are always boasting about the benefits
of exercise. But are they right? Discuss.

DOBIE, TONKE, Nmmﬁ‘r msa "6557'1%0 O3T0TTONR arowa‘ncﬁ TOSRERTING
T} B, wcéo—od (Clale] @@ n@oﬁae‘) 323F A

5.  Write on Sports Management in India.

GOTBTY @O AT TEROD BOB WTOND.
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10.

11.

PZRrRYR 2rwRR

£.20.80°. 20330 Tovod HBe3R 50 TFRII, BROODT BT BRIT TJ,
TATR, VPR AEBSRNT.
BT T3, THATR), Vex) TOeIN ok, IPRTRORTT DTN, FOWORATHE
ROWTTY, TOSeDAD.
T3, TEFOD BRTTR, PREN0T TToND W, TFFIFWOT .220.8T°. YLET
ZoPoRTY, FRTN IR, £u.90.87°. NWIT TEDY TR, [WRLSCLE) S0W0.
3R ARBF0DOZ Ve SERTODYT IJTNET, B0WLL DFOTITT, ),
S0 TY0D IPOTRTIT FDODRY  wrowRmHE BOPRRNER  FodhdFmeN
DeFe LIV TOINTIELD.
Toegod FoDTY:
a) T3odeomd TJB oD, BWNBR0T LOO.
b) e TJOD FI DRI Do), O, BORNYY ©S08 AOIRT/ RRBIT

- QZTBI), IPFOA.
€) £.0.80. PO F0WOPAT BJOD [THFTVOIW), FOTREF N S0WD.
WIRBORNA, T3, VDY IY, 0B, 83 “C” ROOIPT YvITTRNTT, JeD/FT
RO TOWOLF TT WHR L.00.80°. Y030 Todod I Fos 80 =wod B
3$NT03 300!
33, %035, 8B B @ O (WrPBTHE IPT) (PR TN TF® BPY YHERENL)
$U30T TBRTFATIOD TBEIRODZY, (B8R 3uX) TP, VEFoDY 2.TNAT 250D
NRY RPRe BRBELEER (£.20.80°. YVTT TVEONY BPHBWLRTWR).

20T aﬁs-"’c_,g T3 2.00308 BN ZoFT0DR, MTERTINT T, LOTH YVSTIW,
3T 20T TONERRMST o) O3PITE OB, DEBLNRTOV. 8.:00.8T°.

90D SUPEOR Reed.

@2%@? ) 8RTA &e%mdﬁdo AOFZBRAT :u;%ﬂcjg £0.200.830°. ToPod =ee

A BRBLER.

DLHFOID wWOegod IToTT 308 0eQTTON DAY L.00.8T°. YUET o9

B, DJRTAOONT TS, GLODTHNZLIER.

SPF O T, THTFIW, DB 8.00.57°. wiRrod LI, X e IADEROW

BRENLTITV.

saéeaﬁeﬁeéscf, Femo® WY d@zﬂéef PRI N, TOeTY FRTROD went

DRV EATMOPDY.

wz,séaroﬁa cﬁ:wé)@%dg SRBNATIP T FORWORT, ©o3D wzsﬁﬁ)?oﬁmﬁl gReT R

TonedRCRrbRYRY I ACLTLRY JT|S ROIH SRHPFOH QTHT Yo,
£.90.650°. ToPoDbEy, Sowe TRUWNNT

TB0o3Romd TIR 2.00e oW WIOT BRTIWT/FOWERT YLFTITIT.

TS TN o FIIWH, [T A VP IX) LR TOROET JYR0T TRT,

BOWTIT, YVITHR, |RTERILY TONSFIR.

BBBRINLI VTTI) FODMBOZ [ FH/W), BOTREFTN B02TYTD.

£.20.850°. TOYODY SRFTe YTORTJF THRBNAYHR, BREIR.

Note : English version of the instructions is printed on the front cover of this booklet.




